
 
次の式を展開しなさい。 
(1) (4𝑎 + 7𝑏 − 3)(4𝑎 − 3)   (4) (𝑥 − 7𝑦 + 5)2 
  

 
 
 
 
 
 
 
 
 

  

(2) (𝑎 + 𝑏 − 1)2 (5) (𝑥 − 3𝑦 + 2)(𝑥 + 3𝑦 + 2) 
  

 
 
 
 
 
 
 
 
 
 

  

(3) (𝑥 − 4𝑦 − 2)(𝑥 + 4𝑦 + 2) (6) (𝑥 + 2𝑦 − 3)(𝑥 − 2𝑦 + 3) 
  

 
 
 
 
 
 
 
 
 
 
 
 

  

 

式の展開（置き換え）  入試対策 

x - 7 y = メとおく

= 14 a - . 3 +7 b)( 4 a-
3

)

= ( ×+ 5)
.

しん
= X
'

TIOX +25
= ( ×+ 7 b) ×

= X^+ 7b ×
= ( x - 7 y) + 10 ( x - 7y ) を 25

= [ 4 a-3
)

+ 7b ( 4 a - 3 ) = x- 14 xy + 49y' + 10 x - ク0 y +25
,

= 16 a- 24 at 9 + 28 ab - 21 by

x + 2 = メとおく

= ( × - 1 )
(

atb =× とし～
÷ ( 7x +2 - 3 y ) ( x +2 t 3 y )w

= X
2
- 2× t 1

= ( X - 3 y ) ( X + 3 Y )
= ( atb)=2( atb) t 1

= X
2
. 9 ys

= G
'

tzabtb - 2 a - 2 bt 1
y

= ( x + 2)
×
- 9 ys

= つx + 4 水← 4 - 9 y"

4y +2 =× とおく
2 Y - 3 = × とおく

= { x - ( 4y +2)} [x + ( 4y + 2)}
w

= {x + (2 y - 3)} { x - [ 2 y -3」}
w

= ( x t × ) ( x - x )
: ( x - × ) ( x +× )

= x
2
- ×
.

= x- ×
R

= つ( - ( 2y-3)
:

= x- (4y + 2)
で

= x-( 4 y 2- 12 y t 9 )
= x - ( 16 y

'
t 16 y + 4 )

= x - 4 yt 12 y - 9
,= x- 16y - 16 y - 4

y


